INDIAN SCHOOL DARSAIT
SUBJECT ENRICHMENT ACTIVITY -TERM 1
MATHEMATICS

Max.Marks: 10

Class :Ill Sec:
Date :
Name: RollNo:
Q.1 Choose the correct answer from the following: (5x1=5)
1. The place value of 2 in 2456 is :
a) 20 b) 200 c) 2000 d) 2
2. The smallest 4-digit number formed using the digits 2,0,8,4 is :
a) 0248 b) 2084 c) 2048 d) 2408
3. Successor of 5572 is :
a) 5570 b) 5571 c) 5573 d) 5572
4. The greatest number among 1999, 1987, 9991, 9998 is :
a) 1999 b) 1987 c) 9991 d) 9998
5. The smallest odd number is :
a) 2 b) 1 c) 10 d) 20
Q.2 Fill in the blanks. (5x1=5)
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The digit in the tens place in 2543 is

100 more than 7154 is

5671 is an even number or an odd number?
The standard form of 5000 + 50 + 5 is
What comes before 9056 ?
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